Philosophy 134
Spring, 2005
Homework 7

Due: June 1, 2005, in class

1. Explain why the semantics f@5I without possible worlds yields the same
consequence relations as the semantics in which accessibility is a universal rela-
tion.

2. Using the semantics without possible worlds, prove the folllowing5h
Ess O(P A 0Q) = (0P A DQ).

3. Using the semantics with possible worlds and without the accessibility relation,
show that the following is a semantical entailmensi: {¢O0P} £s5) OP.

4. Show thatS4.3lcontainsS4.21by showing that if the accessibility relation is
reflexive, transitive, and connected, then it is is reflexive, transitive, and conver-
gent.

5. Explain why inPLI if a sentence is satisfied by at least one variable assignment,
it is satisfied by all variable assignments.



